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fa: Yuii: ATUUY:
1 13 3 13
L 12 4—3(2+ D)= 2 20+5—d(=+ )=
6 (373 5 * 2053745 )
1 1 2 2
8(2— 5.5)~4x 5+~ = (- + 2)+2xd4— 2 =
( ) 2 GF3)72x4 3
S(L 4 2)s2x5425= 8(2 - 25)+4x2-28—
3 2 . . 2 . . .
S4x 16+ 4— 4(3.5+44) = 28% 84— 4(2.1+2) =
2 1
47+205-3)= (45— ) ¥3+45=
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ifa: Juii: Avuuu:
1 1 3 19 9 3 1 3
CX1254-3(=+ 2) = (=) = (-1 — 2x20+5—4(=+2)=1
6 (5 5) ( 10) ( 10) 2 (2 4)

gx s+ b2 9 a4l
B2 55)+4x 5+ 5= () = (343)

I 3 235 1
B(3+5)2x5+25= "= =392

54 % 16+4—4(3.5+4.4) = (—10)

47+202.5-

1 2 2
8(=+2)+2x4—2 =14
G*3) 5

3 34 4
8(5 - 25) +4x2-28= (_?) = (_65)

28x8+4—«21+m:w—%5=(—w§)

1 69 1
45— )x3+45="=17-
5= 7 4 4
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